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\ / Solving Sequence
1

26—>3—>710>5—>1—>9—>4—>8—>>C4,C7,C10

A knot diagrarrﬂ C2 Ce Cs C1 Co c3 cg
Ideals for irreducible component#ﬂ)f Xpar

I = (—2.25484 x 10*%u*? + 2.20978 x 10%%u* + ... +2.97870 x 10*%b — 1.19885 x 10,
— 3.16887 x 103%u*? — 4.11086 x 10%0u* + ... +2.97870 x 10%%a + 2.58687 x 107,
u®® —12u* 4+ = Tu — 1)
I3 = (u673u47u3+6u2+b—3, —uS — et 20 -2 fa—u—1, u +ub —2u® — 3ut + 3ud + 3u? —

* 2 irreducible components of dim¢ = 0, with total 50 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

L I} = (—2.25 x 10%%u*? 4 2.21 x 10%%u*! 4 ... + 2.98 x 10%°b — 1.20 X
1032, —3.17 x 103%u42 — 4.11 x 1036yu*! 4 ... + 2.98 x 10%%a + 2.59 X
1040, w43 — 120t + ... — Tu — 1)

(i) Arc colorings

- ()

o= ()
o= ()
ar = ( u + u)
1.06384u*? 4+ 0.00138009u*! + - - - — 8.11372u — 8.68458
0.756988u4? — 0.741862u*' + - - - — 0.408776u + 0.402477
—0.534324u*2 — 0.672258u*! + - - - + 3.56812u + 10.8345
a5 = \ —0.489904u*2 + 0.404335u*! + - - - + 3.17936u — 0.269339
1.67244u*? — 0.522788u*! + - .- — 8.92616u — 9.02482
a1 = \0.644047u*? — 0.551896u*! + - - - — 2.65691u + 0.218556
1.82083u*2 — 0.740482u*! + - - - — 8.52249y — 8.28210
a9 = \ 0.756988u*? — 0.741862u*! + - - - — 0.408776w + 0.402477
—0.891489u42 + 1.06089u*! + - - - 4+ 7.38092u — 2.51083
as = \ —0.892905u*2 + 0.445547u*t + - - - + 7.63273u + 1.57813
0.580848u*2 + 1.18966u*! + - -- — 4.91202u — 10.4146
ag = \ —0.291565u*? + 0.524997u*! + - - - + 0.716241u + 0.694269
(ii) Obstruction class = —1

(iii) Cusp Shapes = 3.56001u*? — 2.01639u*! + - - - — 29.9474u — 1.29868



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u*® — 3u*? ... — 1000w + 419
C2,Cg utt— 120+ —Tu—1
C3,C4,C8 uB e+ 4+ 10u—1
cs B 2 p oy — 1
7, ¢10 ut — 17t + -+ 85u — 19
9 utd =Tt 4 18u -1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
gl Y — 17y - 4 2566222y — 175561
c2,C6 Yyt — 214y 4. 429y — 1
C3,C4,Cg y43+45y42++28y_1
Cs y43+y42+-~-+8y—1
cr, C1o y* — 34y + .- + 4299y — 361
Cy yPB oy 4+ 68y —1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.179428 + 0.9665281
—0.758038 + 0.845663.1
0.655485 — 0.7011091

3.68686 + 3.980381

2.52488 — 5.847371

0.179428 — 0.9665281
—0.758038 — 0.8456631
0.655485 + 0.7011091

3.68686 — 3.980381

2.52488 +5.847371

0.873967 + 0.4394101
—1.86520 — 0.237031
—0.248002 — 0.5380741

8.42806 — 4.731731

3.14920 4 6.155241

0.873967 — 0.4394101
—1.86520 + 0.237031
—0.248002 + 0.5380741

8.42806 4 4.731731

3.14920 — 6.155241

= —0.894503 + 0.3823111
= 1.176590 + 0.3478211
= 1.61995 — 0.690951

8.00794 — 0.595521

3.42142 — 0.647011

—0.894503 — 0.3823111
= 1.176590 — 0.3478211
1.61995 + 0.690951

8.00794 4 0.595521

3.42142 4- 0.647011

—0.937588 4 0.1794861
= —0.339877 — 1.3701301
—0.908003 + 0.6529241

—1.78551 + 0.798231

—3.86305 4 0.927111

—0.937588 — 0.1794861
—0.339877 4+ 1.3701301
—0.908003 — 0.6529241

—1.78551 — 0.798231

—3.86305 — 0.927111

1.005980 + 0.3081591
= —0.113439 + 0.3941531
0.524877 — 0.9446751

0.85124 — 2.724161

2.00505 + 5.614131

1.005980 — 0.3081591
= —0.113439 — 0.3941531
= 0.524877 4 0.9446751

>~ Q@ €|l & €| & €| Q& €| & €| & €| & &> & 8| & 8| & &

0.85124 4 2.724161

2.00505 — 5.614131




Solutions to I3

V=1(vol + v/=1CS)

Cusp shape

= 0.765516 + 0.4102761
= —0.11829 — 1.697871
= —0.114903 + 1.3884301

8.79687 + 1.117971

3.28924 4 1.640011

= 0.765516 — 0.4102761
= —0.11829 + 1.69787I
= —0.114903 — 1.3884301

8.79687 — 1.117971

3.28924 — 1.640017

= —0.028174 + 0.8661131
0.809304 + 0.6741581
= —0.391438 — 1.1416601

6.04283 — 2.225761

2.85072 4 2.976821

—0.028174 — 0.8661131
0.809304 — 0.6741581
—0.391438 4 1.1416601

6.04283 + 2.225761

2.85072 — 2.976821

—0.780496 + 0.3426961
= —0.346122 — 0.3587291
1.14579 + 1.897191

8.42175 4 3.776841

3.65503 — 8.571551

= —0.780496 — 0.3426961
= —0.346122 + 0.3587291
= 1.14579 — 1.897191

8.42175 — 3.776841

3.65503 + 8.571551

= —1.078720 + 0.4163321
= 0.42969 + 1.533001
= 0.516989 — 0.9378341

0.60187 + 3.319411

1.55391 — 4.711711

= —1.078720 — 0.4163321
= 0.42969 — 1.533001
= 0.516989 + 0.9378341

0.60187 — 3.3194171

1.55391 +4.711711

= 1.129000 + 0.3674171
= —0.365298 + 0.9356421
= —1.15401 — 0.922941

—3.24498 — 4.346651

—5.96005 + 6.564861

1.129000 — 0.3674171
= —0.365298 — 0.9356421
= —1.15401 + 0.922941

—3.24498 + 4.346651

—5.96005 — 6.564861




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —1.191130 + 0.1165551
a= 0.256373 4 0.2007461
b= 10.664648 — 0.1071801

—1.93492 + 0.039681

—6.28529 + 0.846291

u = —1.191130 — 0.1165551
a= 0.256373 —0.2007461
b= 10.664648 + 0.1071801

—1.93492 — 0.039681

—6.28529 — 0.846291

u = —0.378773 4+ 1.2112001
a = —0.790261 — 0.4871331
b= 10.729066 + 0.9567511

10.42570 — 7.069551

4.08198 + 5.075591

u = —0.378773 — 1.2112001
a = —0.790261 + 0.4871331
b= 10.729066 — 0.9567511

10.42570 + 7.069551

4.08198 — 5.075591

u = —1.213920 + 0.4938201
a = —0.400742 — 0.7829971
b= —1.36620 + 1.308721

2.55744 4 7.033611

u = —1.213920 — 0.4938201
a = —0.400742 + 0.7829971
b= —1.36620 — 1.308721

2.55744 — 7.033611

u = —1.137270 4 0.6796801
a= 0.184669 — 0.7025861
b= —0.708630 + 0.3916311

—1.44466 + 3.005521

u = —1.137270 — 0.6796801
a= 0.184669 + 0.7025861
b= —0.708630 — 0.3916311

—1.44466 — 3.005521

u= 1.158150 4 0.6718411
a= 0.232978 — 0.2778921
b= 0.750511 + 0.2019611

1.98226 — 3.314091

u= 1.158150 — 0.6718411
a= 0.232978 + 0.2778921
b= 10.750511 — 0.2019611

1.98226 + 3.314091

0. —6.579171
0.4+ 6.579171
0. —9.205451
0.+ 9.205451
0
0




Solutions to I V—1(vol + /—1CS) Cusp shape
u=1.219040 + 0.5574607
a= 0.372924 — 1.2033907 0.51328 — 9.389307 0
b= 0.973714 + 1.0028207
u = 1.219040 — 0.5574601
a= 0.372924 4 1.2033907 0.51328 4 9.389301 0
b= 0.973714 — 1.0028201
u = —1.26281 4 0.693761
a= 0.265003 4+ 1.1008707 7.5587 4+ 13.72731 0
b= 1.25438 — 1.178061
u = —1.26281 — 0.693761
a = 0.265003 — 1.1008707 7.5587 — 13.72731 0
b= 1.25438 + 1.178061
u = 0.548716
a= 2.07278 2.69846 8.61990
b= 1.17742
u= 141987+ 0.3151171
a= 0.211755 4 0.4729351 1.65782 — 2.659361 0
b= 0.172064 + 0.0487981
u= 1.41987 —0.315111
a= 0.211755 — 0.4729351 1.65782 + 2.659361 0
b= 0.172064 — 0.0487981
uw= 1.14071 4 0.967541
a= 0.310323 4+ 0.6831711 3.92762 — 3.886891 0
b= —1.152640 — 0.2752971
u= 1.14071 — 0.967541
a= 0.310323 — 0.6831711 3.92762 4 3.886891 0

b = —1.152640 + 0.2752971

u = —0.018931 + 0.4289311
a= 130275 —0.640311
b= —0.458147 + 0.4437751

—0.163307 4 1.1284201

—2.36544 — 5.851541




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.018931 — 0.4289311
1.30275 + 0.640311
—0.458147 — 0.4437751

—0.163307 — 1.1284201

—2.36544 4 5.851541

—0.243711 + 0.0787611

0.405795 + 0.0702251

2.85108 — 0.001091

4.91718 — 0.427321

—0.243711 — 0.0787611
—5.49149 + 1.458161
0.405795 — 0.0702251

U
a
b
U
a = —5.49149 — 1.458161
b
U
a
b

2.85108 + 0.001091

4.91718 4+ 0.427321




IL 1Y = (u® —3u* —u?+6u?>+b—3, —ub —uS+u*+2u®—2u?+a—u-—
1, u” +u® — 2u® — 3u* + 3ud 4+ 3u? —u —1)

(i) Arc colorings

- ()
)
)
)

wWHu —ut -2+ 2 +u+1
—ub +3ut +ud —6u?+3

ag =

S

f2u 72u +3u? +5u? —4u —3
as = \ —ub — b +2u* +3ud —3u? —2u+1

ay = —ub +3u +ud —5u+2

u® + 2u?t —dul4+u+4
6+3u +u —6u®+3
—4ub — 2ud + 8ut + Tud — 14u? — 2u+4
a4 = —ub +2ut +ud —3u +u
208 +3ud —3ut — TP+ AP+ Tu—1
ag = 2u8 + u® — 4ut — 4uP 4 Tu? 4+ 2u — 2

ub + u® —ut — 2u3 + 202 —|—u+2)

ag =

(ii) Obstruction class =1

(iii) Cusp Shapes = —3u® — 5u® + 4u* + 10u3 — 2u? — 11u — 3
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

“ u” u® —ut 20 1

€2 u” +ub — 20 —3ut +3ud 3 —u—1
c3,Cy w4+ 4w’ + 4w+ ut+1

= '+ 2ut — w41

6 ' —ub —2u 4+ 3ut + 30 —3uP —u+1

7 ' —ub —3u 4+ 3ut + 3w — 2 —u+1

s u' 4 4u’ + 4 —u? -1

€9 u —2ut 4+ 2w+ u? —2u+1

€10 w 4w =3 —3ut+3u+ 2 —u—1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
‘1 v+ 2y° +5y° + 3y* + 4y® + 297 — 1
c2, Cg y" — 5% +16y° — 29y* + 33y% — 2142 + Ty — 1
€3, C4, Cg y" +8y° + 2495 + 32y +16y° — 9% — 2y — 1
5 y' =2 —dyt — 3y — 5y — 2y — 1
c7, 10 y" — Ty" +21y° — 33y* +29y® — 16y* + 5y — 1
Co Y+ 4y® — 8yt +8y® — By + 2y — 1
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Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

1.060630 + 0.4678621
a= 0.094535 + 0.9986461
b = —0.498285 — 0.5495641

u =

—1.05108 — 2.271501

—1.29108 + 1.274171

uw= 1.060630 — 0.4678621
a= 0.094535 — 0.9986461
b = —0.498285 + 0.5495641

—1.05108 4- 2.271501

—1.29108 — 1.274171

u= 0.719538
a= 2.07355
b= 0.931490

2.16696

—8.53360

u = —0.636439 + 0.1979971
a= 1.36182 — 0.54122]
b= 0.85369 4 1.276961

8.25977 4 2.867721

1.82451 — 0.484061

u = —0.636439 — 0.1979971
1.36182 + 0.541221
b= 0.85369 — 1.276961

8.25977 — 2.867721

1.82451 + 0.484061

u = —1.28396 + 0.82422]
a= 0.006867 — 0.4723711
b = —0.821146 + 0.3905681

1.57743 + 3.933561

—3.26663 — 8.379731

u = —1.28396 — 0.82422]
a= 0.006867 + 0.4723711
b= —0.821146 — 0.3905681

1.57743 — 3.933561

—3.26663 + 8.379731
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1 (u” +u® —u* 4+ 2u® + 1) (u®® = 3u™ 4 - - — 1000u + 419)
€2 (u" +ul 4 —u— 1) - 120 = Tu— 1)
3, Cq (u” + 4u® + 4u® +u? + 1) (u® +u? + -+ 10u — 1)
¢ (u” +2u* — v+ 4+ D) Fu?? o 2u—1)
Co (u77u6+~~7u+1)(u43—12u41+~~~77u71)
7 (u” —uS 4+ —u+ D *® = 17u* + - 4 85u — 19)
Cs (u” + 4u® + 4u® —u? — 1) (u®® +u*? + -+ 10u — 1)
9 (u” —2u® +2u® + u® — 2u+ 1) (u*® — Tu*? -+ 18u — 1)
c10 (u" +ub 4 —u—1)(u*® =17 -+ 85u — 19)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
¢ (y" +2y° 4+ 59° + 3y* + 4> + 22 — 1)
S(y* =17y 4 -+ 2566222y — 175561)
e, o (y7 — 5y +16y° — 29y* + 33y° — 212 + 7y — 1)
Sy - 24y 29y - 1)
Cs. 1, Cx (y" +8y° + 24y° + 32y + 16y° —y* — 2y — 1)
Syt 45y -+ 28y — 1)

% (y" —2y° +- =2y = DT +yZ + -+ 8y — 1)
er. 10 (y7 — 7y% + 219° — 33y* +29y° — 16y% + 5y — 1)
(Y™ — 34y*? 4 -+ + 4299y — 361)

© (' +49°+ -+ 2y = D(yP +yP 4+ 68y — 1)
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